



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$\left(\frac{3}{4} - \frac{2}{5}\right)^2 + \frac{1}{2}\left(\frac{1}{2} + \frac{1}{4}\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{6}\right) \times \frac{3}{2} + \left(\frac{1}{6} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{2}{5} + \frac{1}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{2} - \frac{1}{3}\right) =$$

$$\left(\frac{1}{2} - \frac{1}{5}\right)^2 - \frac{1}{4}\left(\frac{3}{4} + \frac{1}{2}\right) =$$

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{6} - 3^2 \times \frac{2}{3} =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{6}\right) \times \frac{2}{3} - \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(3 - \frac{1}{6}\right)^2 + \frac{2}{3} + 2^2 \times \frac{1}{2} =$$

$$\left(\frac{1}{6} - \frac{1}{4}\right)^2 - \frac{1}{4}\left(\frac{1}{3} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(\frac{1}{5} - \frac{2}{5}\right)^2 + \frac{1}{4}\left(\frac{1}{4} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(5 + \frac{1}{4}\right)^2 + \frac{1}{2} - \frac{1}{2} - 3^2 =$$



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$\left(\frac{3}{4} - \frac{2}{5}\right)^2 + \frac{1}{2}\left(\frac{1}{2} + \frac{1}{4}\right) = \frac{199}{400}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{6}\right) \times \frac{3}{2} + \left(\frac{1}{6} - \frac{1}{2}\right)^2 = \frac{17}{72}$$

$$\left(\frac{2}{5} + \frac{1}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{2} - \frac{1}{3}\right) = \frac{187}{450}$$

$$\left(\frac{1}{2} - \frac{1}{5}\right)^2 - \frac{1}{4}\left(\frac{3}{4} + \frac{1}{2}\right) = \left(-\frac{89}{400}\right)$$

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{6} - 3^2 \times \frac{2}{3} = \frac{289}{12} = 24\frac{1}{12}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{6}\right) \times \frac{2}{3} - \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \left(-\frac{17}{18}\right)$$

$$\left(3 - \frac{1}{6}\right)^2 + \frac{2}{3} + 2^2 \times \frac{1}{2} = \frac{385}{36} = 10\frac{25}{36}$$

$$\left(\frac{1}{6} - \frac{1}{4}\right)^2 - \frac{1}{4}\left(\frac{1}{3} - \left(\frac{2}{5}\right)^2\right) = \left(-\frac{131}{3600}\right)$$

$$\left(\frac{1}{5} - \frac{2}{5}\right)^2 + \frac{1}{4}\left(\frac{1}{4} - \left(\frac{2}{5}\right)^2\right) = \frac{1}{16}$$

$$\left(5 + \frac{1}{4}\right)^2 + \frac{1}{2} - \frac{1}{2} - 3^2 = \frac{297}{16} = 18\frac{9}{16}$$